Some Hard A* GCSE Maths Questions to try. (Calculator allowed). Questions go from easiest to hardest.
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1. The diagram below shows a circle with a centre ‘Z’.
Line XY is a tangent to the circle at point ‘P’
The coordinates of Z, X, and Y are (2, 3) (-6, -4) (8, 5) respectively.

Find the equation of line ‘ZP’ and give it in the form 
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2. Jorgen has 20 sweets in his pocket. The sweets are either blue or yellow.
The probability of him picking two blue sweets is 6/30. 

How many yellow sweets does Jorgen have in his pocket?
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3. The diagram shows two triangles (BPV and BVC) joined together. 
Line BV = PV
Angle BVP = 
Angle CBV = 40 deg
Line BC = 6 cm
Line CV = 4 cm

Line VZ is perpendicular to line CV and bisects angle BVP.

Find the length of the line BP

NOTE: In your solution, round all your calculations when needed to 3 significant figures and your final answer should also be to 3 significant figures.
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